
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

4298.7 × 0.0001 = ________ 8389.5 × 0.01 = ________

5495 × 0.001 = ________ 5109.7 × 0.01 = ________

7024.8 × 0.1 = ________ 1840.4 × 0.0001 = ________

4842.1 × 0.0001 = ________ 6747.8 × 0.001 = ________

6935.5 × 0.1 = ________ 9672.1 × 0.001 = ________

5322.6 × 0.01 = ________ 3127.5 × 0.0001 = ________

2628.5 × 0.0001 = ________ 9440 × 0.0001 = ________

6210.9 × 0.01 = ________ 6571.9 × 0.0001 = ________

7314.2 × 0.0001 = ________ 5616.8 × 0.01 = ________

1328.9 × 0.1 = ________ 7795.5 × 0.0001 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

4298.7 × 0.0001 = 0.42987 8389.5 × 0.01 = 83.895

5495 × 0.001 = 5.495 5109.7 × 0.01 = 51.097

7024.8 × 0.1 = 702.48 1840.4 × 0.0001 = 0.18404

4842.1 × 0.0001 = 0.48421 6747.8 × 0.001 = 6.7478

6935.5 × 0.1 = 693.55 9672.1 × 0.001 = 9.6721

5322.6 × 0.01 = 53.226 3127.5 × 0.0001 = 0.31275

2628.5 × 0.0001 = 0.26285 9440 × 0.0001 = 0.944

6210.9 × 0.01 = 62.109 6571.9 × 0.0001 = 0.65719

7314.2 × 0.0001 = 0.73142 5616.8 × 0.01 = 56.168

1328.9 × 0.1 = 132.89 7795.5 × 0.0001 = 0.77955
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